
� SAC02415 Issue 3 DPL  31/08/21

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
01284 757500 01284 703534 sales@sealey.co.uk www.sealey.co.uk

Page 1 of 2

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice. 
There may be alternative versions of this product, please contact us should you require this information.
IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 

Parts Information:
Air Compressor 24L Belt Drive 1.5hp Oil 
Free
Model No: SAC02415

Item Part No. Description

49 SAC833030D Plastic Cover 

105 SAC9412842 Non Return Valve

106 SAC9047073 Coupling Body 1/4"bsp Male

107 SAC9047051 Drain Valve 1/4"bsp Male (Ball Valve Type)

108 SAC9051116 Pressure Reducer

109 SAC9052092 Gauge 180psi, 40mm od, Rear Fitting

110 SAC4101062 Safety Valve 1/4"bsp 8bar

112 SAC9050336 Elbow 10mm 

112a SAC9412469 Elbow 1/4"bsp Male- 10mm Pipe 

Item Part No. Description

116 SAC9038001 Handle Plug

131 SAC9063090 Pressure Switch 16amp 12bar 175psi

132 SAC9065673 Power Cord

134 SAC9065302 Motor Cord

145 SAC9412619 Sending Pipe 

145a SAC9412466 Sending Pipe 

300 SAC9420071 Wheel Kit, Pair Fixed, c/w Axle + Fixings (D:122 
W:25 B:12) 

301 SAC9413254033 Tank 24ltr



� SAC02415 Issue 3 DPL  31/08/21

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
01284 757500 01284 703534 sales@sealey.co.uk www.sealey.co.uk

Page 2 of 2

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice. 
There may be alternative versions of this product, please contact us should you require this information.
IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 

Parts Information:
Air Compressor 24L Belt Drive 1.5hp Oil 
Free
Model No: SAC02415

Item Part No. Description

1 SAC9416073 Kit Crankcase/Motor (35mm Long) 

2 SACA631010 Cylinder 

3 SACA661406 Head

4 SACA661202 Crankshaft

6 SACA640050 Valve Plate Set 

8 SAC9429010 Conrod/Piston Ass'y 

30 B/6001-2RS Bearing 

31  B/6203ZZ Bearing

41 SACA610300 Conrod Cover 

45 SAC9411137 External Circlip 13.6mm ID

46 SAC9038161 Fan

52 SAC9050351 Valve 

62 SACA650300 Gasket, Cylinder 

64 SAC9415052 Head Plate Gasket 

Item Part No. Description

78 SAC9040019 Seal For Conrod SP200

126 SAC9075047 Belt, Toothed (PJ307) 

500 SAC9038353 Lower Cover For Motor 

501 SAC9038360 Upper Cover For Motor 

502 SAC9142591 Rd Head S/T Screw M4 X 12

503 SAC9115011 Screw 

504 SAC9122331 Nut

600 SAC9101556 Left Hand Thread Socket Cap Bolt M5 x 16mm 
Black 

601 SAC9011004 Screw (M5x16)

602 SAC9131654 Washer

603 SAC9101055 Screw (5x16)

-- SAC9612181 Carbon Brush (Pair) (Not Shown)

-- FWM12.S Flat Washer M12 Zinc 

-- SAC9434C57 MPK Piston Ring Kit (Not Shown) 


